

ページ・行	誤	正
p.498 式 (8.1.97)	$\left. \begin{aligned} \frac{dM}{dx} &= S \\ &= S_B - \frac{1}{2} \left\{ 2q_1 + \frac{(q_2 - q_1)(\underline{\ell} - x)}{\underline{\ell}} \right\} (\underline{\ell} - x) \\ &= 2\underline{\ell} \cdot S_B - 2\underline{\ell} \cdot q_1 (\underline{\ell} - x) - (q_2 - q_1) (\underline{\ell} - x)^2 = 0 \end{aligned} \right\}$	$\left. \begin{aligned} \frac{dM}{dx} &= S \\ &= S_B - \frac{1}{2} \left\{ 2q_1 + \frac{(q_2 - q_1)(\underline{h} - x)}{\underline{h}} \right\} (\underline{h} - x) \\ &= 2\underline{h} \cdot S_B - 2\underline{h} \cdot q_1 (\underline{h} - x) - (q_2 - q_1) (\underline{h} - x)^2 = 0 \end{aligned} \right\}$
p.498 式 (8.1.98)	$M(x) = S_B(\underline{\ell} - x) - \frac{1}{2}q_1(\underline{\ell} - x)^2 - \frac{1}{6}(q_2 - q_1)\frac{(\underline{\ell} - x)^3}{\underline{\ell}} - M_{BA}$	$M(x) = S_B(\underline{h} - x) - \frac{1}{2}q_1(\underline{h} - x)^2 - \frac{1}{6}(q_2 - q_1)\frac{(\underline{h} - x)^3}{\underline{h}} - M_{BA}$
p.498 式 (8.1.99)	$\left. \begin{aligned} M_{\max} &= M(x - x') \\ &= S_B(\underline{\ell} - x') - \frac{1}{2}q_1(\underline{\ell} - x')^2 - \frac{1}{6\underline{\ell}}(q_2 - q_1)(\underline{\ell} - x')^3 - M_{BA} \end{aligned} \right\}$	$\left. \begin{aligned} M_{\max} &= M(x - x') \\ &= S_B(\underline{h} - x') - \frac{1}{2}q_1(\underline{h} - x')^2 - \frac{1}{6\underline{h}}(q_2 - q_1)(\underline{h} - x')^3 - M_{BA} \end{aligned} \right\}$